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AL (AL 2 mm)
1EH B 3ES
BECEK | BdLE | BdLE EE% | ATE | SdLE | BFE | £TE BalEk | BEE | ATE
200 960 1010 50 810 860 50 660 700 40
BEIRIE 250 930 980 50 730 800 70 550 610 60
BEIRE 250 920 970 50 720 770 50 520 670 50
300 890 960 70 660 720 60 420 480 60
BEAE Pt (BT 2 mm)
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| JFSSpEVR [ — —— —— | Jr—— T —_—
| | 3000 880 960 80 | 660 770 | 110
BT et (47 o)
= 2EH
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200 990 1030 40 830 890 60
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_____________ FH (m ) 8226
oA No No.2
HEBRAOFEE v (m 10.8
HEBAOKE H  (em) 50.0
KEDTAHAY h (cm) 1.5
# 8 B M e (sec) 3600
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A B M s (sec)
Q (cc/sec)
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HERXQ=(y x ¥ x h x 1) /sec
K=Q x {Loge(H/ v +vy T+ H/r) H/r)) =11+ Q2x -H-H)
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